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Find out the correct answer from the following
alternatives in each question :
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Students of a college divided according
to their sex is

() ¥NRMF/nominal
(i) &F/ordinal
(i) SEEPPS/interval
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The algebraic sum of the deviations of 2

.s.et of nvalues from their arithmetic mean
is |
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None of the above i
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The best and the most pbwerful measure

of dispersion is H
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range
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semi-interquartile range
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mean deviation
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Standard déviation
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The correlation coefficient is independent
of '
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scale only
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origin only
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both scale and origin
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All of the above
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Answer the following :

(a)

(b)

(c)

AT TS 21efs WiF (Mg ©A[ T AL ;"5

fRom T

Distinguish between primary and
secondary data with example.
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Write a note on measures of skewness.
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Explain why there are two regression
lines.

(d) TR SRR |IF @ B
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Write Yule’s coefficient of association.
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;Nhat are the different types of statistical
P::azersc:ss the limitations of statistics.
Pre g.l be a blank table for Presenting the

ution of students of a degree
college according to 3 classes ox

2 es
and 3 types of residence. .
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(b) TS FACIRY AW 40 : 5+4=9
Explain the following :

4. (a)

(b)
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Graphical representation of.
frequency distribution

(i) RES T HE HIEPPE A
Nominal scale and interval scale
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6+2+2=10

Define arithmetic mean, geometric mean
and ‘harmonic mean and explain their

merits and

demerits. For any two

variables, prove that AM 2 GM 2 HM. For
a moderately skewed distribution, mean
and median are 30-6 and 29 respectively,

find mode.
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Define mean deviation and standard
deviation and state their merits and .
demerits. Prove that for any discreté |

distribution, standard deviation is not |
less than mean deviation from mean. The |
first four central moments of a distri-
bution are 0, 25, 07 and 187
respectively. Test the skewness and
kurtosis of the distribution.
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What do you mean by correlation?
Determine the coefficient of correlation
between two variables X and Y. Prove that

the coefficient of correlation lies between
-1 and .+1. Show that the coefficient of
correlation is not affected by the change

of origin and scale.
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6. (a)

(b) .
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What do you mean by regression and
regression line? Find the two lines of
regression in case of a bivariate distri-
bution. Given the regression coefficients

byx

cient of correlation between x and y.
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1+3+3=7

N =1000, (A)=510, (B)=490, (C)=427,
(AB) =189, (AQ) =140, (BQ) =85

What do you mean by independence of
attributes? When the two attributes are
said to be positively associated, negatively
associated or independent? Explain.
Examine the consistency of the following
data :

N =1000, (4)=510, (B)=490, (C) =427,
(AB) =189, (AC) =140, (BC) =85 '
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2+1+4=7

Define complete association and disso-
ciation of two attributes. What do you
mean by classes and class frequencies?
Describe the relation between class
frequencies.

_-4 and b,y =—i, find the coeffi-
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